H & 0l & AHS B Ml A

20208 20ila LESIH 2BIME=

B;ii 8 A= g 29g (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OIAIR= 3,252,729 3,040,579 212,150
olg2g H&S 2,702,811 2,483,755 219,056
JHH Y= HAAQ 3 2Y 2,361,466 2,130,209 231,257
I Q320 =4 2,130,826 2,009,731 121,09
201 B2 AY| 97,980 131,600 A33,620
01 A=R2teld| 97,980 131,600 233,620
O3&3l, MOolL, 2etE N S Nz ME
12,0003 *80 2+ 152] 14,400
OOCIAIRI A3 2 RHJ EFA=Y
100,000 & *4 H +83| 3,200
OYIINBRH WE HERE =
300,000 x5 *23] x 1 3,000
OLINBRE ME AL Z A
25,0002 »40H 1,000
O SEMAI TIH29ID 3]0 EAwgt
100,000 7 H*23| 1,400
O%3 #=2Y N/ 39 &Y
100,000& *7 B +23| 1,400
OH3lE S ABAoARS 2R3 &N
=g 100,000 *2EH »23| 400
Oas ez 5,000,000& 5,000
O2sl+=d HH 20,000
—LEd 10,000 *3002* 13| 3,000
—ZAd 6,800&*2, 5002 *13] 17,000
OZHMus =& 224 3,300
—NSHA SEZ 3,000,000& 3,000
—g3d =2 S 300,000& 300
OLo3H IR Al
600,000 *15H*13] 9,000
O2lg] H& Y A% HI+ M 18,880
—HEE NI 17,0002 8004 13,600
—HE 77,0003 484 3,6%
— AT} 4,800 *1607H4 768
—HEE LT 850 *9607H4 816
OHMIotH 2l3| o|REBE M=
8002 *1,25001*13] 1,000
O2Qlgl 2201 - |J| HEAXI
40,000 *400H 16,000
203 AR F=&lY| 15,435 15,435
03 Al FRIHRFXIY| 15,435 15,435
O23|2g gRFa 4,690,000 4,690
O as gRFa 7,112,000& 7,112
O3 ¥ 23UWR U2IIEE NE
3,633,000& 3,633
205 2|3/H| 1,984,971 1,831,096 153,915




2A:

3 &gt
el FdE As dig 29 (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
01 2|8 &=Hl 486,000 356,400 129,600
o2 ditg =& - d+4|
1,200,000 27 F+ 122 388,800
OEx&=H| 300,000 x27 H*12& 97,200
02 234 998,186 973,841 24,345
OF-FSEaS) 3,080,820 x27r &« 12& 998,186
03 2 =LHOH 2,970 2,970 0
OAMIOILE, w=, A S 213 04|
110,000 ~27& 2,970
06 2Y=ESS3H 185,381 185,381 0
O d=g3sS3H| 185,381,000& 185,381
06 Slel2g g RF=a| 126,240 126,240 0
O2lg 28 g =24t 126,240
-2 3,130,000« 1&~12& 37,560
-2 1,580,000 x 12 * 122 18,960
— RS 1,200,000 x4 * 122 57,600
—SEgfdd 1,200,0002 18«22 2,400
—WECH HE 810,000& * 122 9,720
07 SlRANLY| (BB, I 2 S) 6,750 6,750 0
Oolg =S L HHDSY
250,000& 27 H 6,750
08 SR AZNLHI(RI2tRIE) 32,400 32,400 0
Oolg pIztelet Y|
1,200,0002 27 32,400
09 2 F Mot 70,000 70,000 0
O2HATEH AN LH|
10,000,000 794 HEHA| 70,000
10 A EAMEE=S 13,600 13,600 0
O8= Al -2 7 2¥E23 FE=
13,600,000 13,600
oY== 2g=s 24,955 25,970 1,015
O=¢ggiz JIARE=
554,547,600 *4. 5% 24,955
12 YE=RALRES 38,489 37,504 985
O=oAH2ES J|I2FE=2 38,489
—2IEE 961,215,840 *3.545% 34,076
—LoERYEE
34,075,1012%12.95% 4,413
301 Eet2 NS 32,440 31,440 1,000
09 AP =ENYI 10,000 10,000 0
O=U - 2 X2zl S LS TAlNF |
10,000,000 10,000
11 dAMEEIXIZE S 5,000 0 5,000
O3&83 & EE38 & M=
2,500,000 *23 5,000
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2A:

=t
el FdE As dig 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 17,440 21,440 24,000
OHTARZAL & ZAES B0 S AHIE
&t 40,0002 +60% * 10% 240
oS Heans
500,000& *52/*40 &Y 2I& 3 10,000
ON2HSA =&
200,000&x3H12& 7,200
olg| AE o|F 2354 g 1,200 15,440 A14,240
201 Ler23| 1,200 5,200 24,000
01 At2teltl 1,200 5,200 24,000
ONY 1S - 2 YA 2
300,000& *2Al 2+22] 1,200
=Uel &z Ast 186,360 53,560 132,800
201 fet=3| 12,700 12,700 0
01 At 22|l 12,700 12,700 0
OSR=UET AMARE AR 4
g 100,0003 9 x33] 2,700
O=U - 2 A& A HlwAst S HA FRt
2 1,000,000 *55] 2 10,000
202 04dl 50,000 3,600 46,400
01 =LHOHI 2,000 3,600 A1,600
OEt Al - 2 Hluadst S &3 ¢
2,000,000& 2,000
03 =20 48,000 0 48,000
OZE =2 o 3,200,000 x3&+53] 48,000
205 2|&lH| 123,660 37,260 86,400
03 2E=LHOH 11,340 11,340 0
OBF Al - & BluAdst S 2/& 0l
210,000 27 E+23 11,340
04 2|3 =20 112,320 25,920 86,400
oddl =A% & Az+80 UHE =A&
& odl 112,320
—=2¢s S 3,200,000 <27 86,400
—=Mae &4 & =AUKEA =F Y
= 86,400, 000& *30% 25,920
olg] AtFetd e 43,080 51,478 A\8,398
201 er=23y| 38,080 46,178 /8,098
01 AtR2t2|HI 3,000 3,500 A500
OSIaI AL AIREE
500,000 22 1,000
O=8=3 Xl 1,000,000 22 2,000
02 S5=2g4l 35,080 42,678 AT7,598
Ode & 45 NEE |RAE=+
2,700&+6,736m %0.8 14,550




2A:

B3 of
el FdE As dig 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZES 3HHIE(FUHEE AER)
55,0002 «3CH* 12 1,980
0213 Rags 3ldHIS(H012)
254, 1003 128 3,050
Oxtgze| || 15,500
—odE Xt 5,760,000 5,760
—Ug 2 SESEI 5,760,000 5,760
— NSt 282 675,000 *4CH 2,700
—ASit PN REs
100,000 »2CH+23] 400
— XS RHAl 220,000 *4CH 880
405 AHaHE = 5,000 5,300 A300
01 MMM ESFSHI 5,000 5,300 A300
OFA & - I X 5,000
—OlstsAHa & - e
2,600,000& 2,600
—AHa | 2,400,000 2,400
SIAEE LA S 74,392 67,885 6,507
SEHC AM2E 2 56,509 59,469 22,960
201 er23| 56,509 59,469 22,960
01 At2teltl 43,140 46,100 2,960
OEZEE 2295 MH
380,000 x22 +03] 6,840
OBI18H(H)| 2x019) 25,600
-3l &7 100,000& x4~ 164 6,400
—35 &4 100,000 x4 482! 19,200
OZJDIA |2l & £I185 7 1,600
—=Xl2 200,000 *4CH*13] 800
—5JI188 7 800,000& 800
O=22d & =Al=el 4,000,000 4,000
O==0S A 9 5,100
—Jl= 150,000 x 12+ 1A 2k 12/ % 17 2,550
—=u 50,0003 x1H# 1Al 2H32]« 17 2,550
02 s3=gHl 13,369 13,369 0
O=3od MBI AAE QB S AL
= 104,500« 12& 1,254
O=222d HI2AAAY SeHRE AR
344,080 x 122 4,129
O=32d MX2 AL RX2e]
665,500 * 122 7,986
AEH g uA 2L 17,883 8,416 9,467
201 2= 17,883 8,416 9,467
01 At2t2lt] 17,883 8,416 9,467
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17,

s
Ol &k

Oll &5
17,883

266,953
237,673

883,0002
87,673

285,661
26,700

16,359
63,090

A 18,708

£29,0%
£27,685
A31,50

31,500
23,500

22,000
1,500

0%
OR
HT

lo

0y
0] o

10
0%

M0
02

-

500

o)
Tz |
ton

ne
ra

22,000,000

b b s B
oo o
Ml”ugzrﬁ
MW=L g

500, 0004433

500,000
3,000

HAX(E SR

3,000,000
1,000,000

2,000, 000
1,500,000

253,768, 0002 6%
396,000

990,000

12,411,000

3,223,000
18,328,000

2A7 5008+ 128

1,000
3,500

2,628, 0002

2,000
1,500

56,173
15,227

3%
990

12,411

3,223

18,

3,904

52,269

328

2,970

2,628

o 150.000
150,000

150,000
18,952

10,782

190,000
10,752

29,280
10,752

10,328

10,328

1.0, B0

10,752
8,200

10,928

10,752
18,528
15,528

4,600

28, 00021+ 128




SN oI5l AR=
Bo: olgl2Y MG
=@t 2o g8 28t (CH9: &S1)
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot 05”55 HR=2
SEECEEEEE T
5,528,000 5,528
OCXE et &€ slx s 2
10,000,000 10,000
02 =AU 3,000 3,600 A600
093 Mza &N 2
250,000& 128 3,000
HAESAAH|(QAIRZ) 549,918 556,824 6,906
ol 2| 416,274 400,866 15,408
olA29H| 416,274 400,866 15,408
101 Q124H| 416,274 400,866 15,408
01 B 288,006 277,420 10,586
O=x=1224L= 148,269
—5= 15,0592 x3H *x28A| 2Hx 12 15,180
—6= 12,8442 x9H +28A| 2tx 128 33,841
= 11,6022 x 12 «28A| 2H+ 12& 46,780
—8= 10,4163 x7H*28A| 2tx 128 24 499
—-9= 9,860& *1H*28A| 2Hx 128 3,313
—O| &4 BHH| A (63)
12,8442 x1H 67 Al 2tx 128 10,327
—O| &S| M (7))
11,6023 x 1H 67 Al 2tx 128 9,329
Od&H2 139,737
—6= 52,536
Ss=2
4,002,700 «10& *30/100%172.5/100 20,714
ASS
4,002,700 +1024 %50/ 100%x125/100 25,017
BS=
4,002, 7002 102 x20/ 100%85/100 6,805
—-72 58,070
N==
3,403,300 x 132 %30/ 100%172.5/100 22,896
ASS
3,403,300 *13% *50/ 100%x 125/ 100 27,652
BS=2
3,403, 3002 x 13 %20/ 100+85/100 7,522
—8= 25,975
Ss=2
2,827,000 72 x30/100%172.5/100 10,241
AS2
2,827,000 x723 %50/ 100%125/100 12,369
-BE2 2,827 0002 x72H %20/ 100%85/100 3,365
—9= 3,156
Ss=
2,403,700 x 1 *30/100%172.5/100 1,244
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SN o5 AR
. HY2IHUI(2SAIRS)
el QIEE2E (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
==
2,403, 7002+ 1 %50/100%125/100 1,503
BS=2 2,403, 7002 «1+20/100+85/100 409
2 DIt B4 66,262 63,965 2,297
SELEEE S EEES
9,802 %2 x2BA| 24+ 122 6,626
CEC LI E=CEE TR
11,6022« 14Z +28A| 2t + 12 54,576
OAIZREEH IIH =02
15,0002+ 1H+28A1 2H+ 123 5,060
03 B (LRI 2224 25,608 24,572 1,03
CELNEE - INEEE R
21, 403 +5H+20A 2Hx 128 25,608
M IIZtH22SEx 36,398 34,909 1,489
OUxel=E JI2tHZ22 Xt eld| 27,805
=Jl23
10,08021*124x8A1 24222« 1224 21,184
—FE4g
10,0303 *1H+BA| 2H4 L« 123 3,852
—E =< 10,0303 12 +8Al 2t 123 963
—zn224Y
10,0302+ 1. 581 1Z*10A1 2++ 122 1,806
OUxel=E JI2tMZ22 5 HEd3 4,952
~Jl=2
1,910 x 14 +8BA| 2H+222 + 123 4,034
—z=gay
1,9103 x 1 +BA| 2hx4 2+ 122 734
—E XY 1,910« 1H+8AI 2t 122 184
OouxesE JI2tH224t B8 3,641
—=32d3 32,676, 1202 %4.5% 1,471
—HLEE 32,676,120 %3.545% 1,159
—LOIm)| R
1,158,368&*12.95% 151
—1E2H 32,676, 1203 *1.75% 572
—AHHEE 32,676, 1202 %0.87% 288
[2Zdl 133,644 155,958 A22,314
J|1E23&| 133,644 155,958 AN22,314
201 L2 | 83,556 82,836 720
01 Ar22eltl 83,556 82,836 720
ORNM2II|I=22ZHI 42,336
—et=ZH| 40,0003 *498 x12& 0.8 18,816
—=4ll] 50,0002 *49F x 122 +0.8 23,520
OZHEZEIHI| & EA| eXz
2,115,000& 123 25,380
Ol=g=E= 60,0002 130 7,800




2A:

OIGIANR=

Hm: #AH2HAG| (2B A22)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OROIFNZHINAE 8HE
170,000& * 12 2,040
OBIME 29 500,000 x 12 6,000
202 04| 35,380 57,698 N22,318
01 2LHA b 35,380 57,698 N22,318
OgRFZ|=0d|
120,000 x40 x12&+0.5 35,280
OSFA 401=3 g us ol
20,0003 5 *13] 100
203 HR=4AY] 14,708 16,424 AT16
01 I 22 LR FA| 2,868 3,584 AT16
OJ|a2=dg =AY 2,868,000& 2,868
02 32 JRHH R 3,920 3,920 0
OZEIRIE R 80,0003 »49H 3,920
M EASLR=AH 7,920 7,920 0
ORAN2ILRFTHI(232Y)
350,000& 122 +0.8 3,360
ORANSILRFIH(LHEH)
175,0002x122+0.8 1,680
ORN2ILRFH(H22Y)
300,000& 122 0.8 2,880




